
Brand Name: Milbank

Type: Hinge Cover

Special Features: Continuous Hinge, Drip Shield Top, 1 
Door, Pad Locking Wing Handle, 
Unistrut Channel, Wood 
Backboard,TOP

Application: Enclosure for Mounting Electrical 
Equipment

Standard: UL Listed

Number Of Outlet: 0

Material: Steel with Powder Coat Finish

Color: ANSI 61 Gray

Mounting: Wall Mount

NEMA Rating: Type 3R

Utility requirements may vary. Always consult the serving utility for their requirements prior to ordering or installing this 
equipment. This product must always be installed by a licensed electrician. Installation of this equipment may require local 
electrical inspector approval.

milbankworks.com

363612-LC3R-SP-WB
N3R LATCH COVER ENCL SPEC
784572213869

Catalog Number:
Item Description:
UPC Code:



27.00

32.0036.00

36.00

2.00 4.50

2

1

4

TRANS. MNTG.
EMBOSS (4)

10

12

12.00

36.5 REF.

14.3 REF.

3

2

5

6
7
8
9

NOTES:
1.) ORDER PANEL AS OPTION:
     A-36P36 - PAINTED STEEL
     A-36P36W - WOOD
     A-36P36A - ALUMINUM
     A-36P36S - 304 STAINLESS STEEL
     A-36P36Z - 316 STAINLESS STEEL

2 CAM POSITION MUST BE SUCH THAT
       CCW 1/4-TURN RELEASES DOOR.

3.) SHIP ON 48" PALLET, 3 UNITS PER PALLET.

NEMA DWG.: #10770-2

ITEM QTY. PART 
NUMBER DESCRIPTION

1 1 1138401 SHELL WELDMENT

2 1 1006476 TOP

3 1 1138403 FRONT ASSY

4 1 1002359 PANEL, WOOD

5 1 1002148 HINGE PIN

6 13 1047010 CARR. BOLT 1/4-20X3/4 SS

7 13 1000042 WASHER, 1/4" FLAT SAE 

8 13 1025009 WASHER 1/4" SPLIT LOCK

9 13 1025026 NUT, 1/4-20 HEX 

10 8 1001273 NUT, 3/8-16 HEX W/BELL

11 1 1002995 CARTON (NOT SHOWN)

12 1 1003115 LABEL (UL)

1001669
D.F.

1001669

1

Material:

Finish:

Catalog No.:

Title:

Customer:

Drawing No.:

General Offices:          Kansas City, MO

Drawn By:
Scale: NTS

Date:

14 GA. STEEL

CT CABINET PADLOCKABLE

Sheet 1 of5/5/09

UL LISTED TYPE 3R

Tolerances:
Unless Specified Otherwise
X.X
X.XX
X.XXX
X 2

.015

.03

.1

Third Angle

Checked By:
Approved By:

Part Wt.:

REV. DATE DESCRIPTION BY
D.F.REMOVE BAG HARDWARE; RESTRUCTURE B.O.M. (ECO #18236)5/5/09E

E1
F 

10/20/11
5/29/15

ADD NOTE 3 (ECO #21474)
ADDED LABEL 1003115 TO CAT DWG (eECR 30078)

D.F.
AJS

Friday, May 29, 2015 12:47:53 PM aschnakenberg

Shear/ Die#:

MILBANK LIGHT GRAY

363612-LC3R-SP-WB

AMERICAN ELECTRIC POWER


